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Al '14~'154
= AF | A4 PAMsEE=( 99 : Ba/kg-dry ) =Rk
T AR A (H&~HA)
=
TT 6OCO 134CS 137CS 4OK 137CS
0 244 <0.580
4yl | 03.03| <0.492 | <0.539 517+15.5
+0.687 ~15.7
= N 35° 19" 10.97, E 129° 16" 21.8”
ki3 B 1.80 1.40
| As| 03.03] <0.368 | <0.333 658+17.5
5 +0.134 ~13.8
1= B N 35° 15" 55.97, E 129° 14" 33.9”
N 0.817 1.35
%73 03.03] <0376 | <0.280 468+12.7
+0.103 ~9.77
= Ry N 35° 10" 35.0%, E 129° 12" 29.7"
O std =
'14~'154
B HE YA F=( @9 : Ba/kg-dry ) S
2| A =} (FHE&~FH)
GOCO 134CS 137CS 4OK 137CS
1.18 638
q9% 03.03 |<0.348 | <0.348 <0.360~2.40
+0.0680 | *18.7
3t N 35° 16" 5.76", E 129° 14" 3.71"
© A%
'14~'154
AH | AA PAsE=( @9 ¢ Ba/L ) SRS
A" | 4R (HE~F)
3H SOCO 1311 134CS 137CS 3H 1311
Sl 03.03 <2.70 ]<0.00967 | <0.153 | <0.00939 | <0.00955 | <1.98 <0.020
= N 35° 17" 23.0", E 129° 15" 28.0"




O A xF
'14~'154
2= 2= WAL E=( @9 Ba/L ) S
A4 A=t (Ha~FHd)
34 60C, 1311 Bicg | 1370 3 1311
k=i Sl 03.03 | <2.69 | <0.00726 | <0.0858 | <0.00723 | <0.00829 | <2.01 | <0.017
3% N 35° 21" 29.0", E 129° 17" 23.0"
A 03.03 <2.68 | <0.00810 | <0.0653 | <0.00820 | <0.00782 | <2.16 | <0.0080
23T N 35° 11" 21.0", E 129° 12" 23.0"
O A FEA=(EY)
'14~'154
Nz | A8 | AF WAlsE=( &9 : Ba/kg-fresh ) SARS
TR | A" | axt (FHa~FHd)
60c, | 18l | 1cg | B¥70g | "Be 105 1370
%01 4yl | 03.03 | <0.0669 | <0.151 | <0.0762 | <0.0892 ié?ééﬁt 1826..561 <0.11
% | N 35° 19° 23.0", E 129° 16" 13.0"
© 71717 57D
EAGAE( @9 : mBa/m )
T3 AA LA AR Q= HPAL A
131I 134CS 137CS
#1 | 02.29,16:15~03.07,16:15 <0.112 <0.111 <0.123
#2 03.07,16:15~03.14,17:32 <0.297 <0.161 <0.194
#3 03.14,17:32~03.21,13:30 <0.112 <0.0844 <0.0936
#4 03.21,13;30~03.28,17:35 <0.151 <0.157 <0.171




15 | 3 A5 =( @9 © mBqg/L, '14~'15d SAHHY
j = j =
3¢7 . - 5
' AWE 2 °H ¢ Ba/L ) (H2~F )
A A 3 58 134 137 3 137
=B H Co Cs Cs B H Cs
10 3.86 5.2 <2.14 <1.64
A] o}
agk 0303 <2.64 <1.41 <Pz 25 R 59
#x N 35° 20" 51.07, E 129° 19" 32.3"
9.9 1.91 75 0.89
22
$4 0303 <2.67 <1.51 <Lz 0 <2.09 o
A% | N 35° 15 52.0, E 129° 14" 17.0"
10 2.64 70 <1.76
IRE= 03.04 <2.69 <1.31 <1.13 <1.94
her +0.55 +0.355 ~11 ~3.03
10 2.34 76 <215
2u) 4= 03.04 <2.71 <1.32 <1.14 <1.95
AT +0.56 +0.387 ~11 ~3.28
11 2.76 76 <1.77
394 03.04 <2.73 <1.10 <1.56 <1.88
b +0.58 +0.523 ~11 ~5.09
10 2.15 76 <2.21
49) 5 03.04 <2.70 <1.35 <1.12 <2.15
b +0.56 +0.332 ~12 ~3.84




